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WORKSHEET 3 
1. You are the given the following information regarding price elasticities of demand:

	Commodity
	Price Elasticity of Demand

	Potatoes
	0,2

	Automobiles 
	3,0

	Electricity
	1,1

	Cigarettes
	0,4

	Beer
	1,0


Predict the corresponding direction of change in total revenue for the following cases:

a) A decrease in the price of cigarettes. 
b) A decline in the price of electricity.

c) An increase in the price of potatoes.

d) A rise in the price of automobiles.
e) A decline in the price of beer.          
2. As price increases from $1 to $2, quantity demanded decreases from 30 to 20. What is the point elasticity of demand?

3. Fill in the following table.

	    Price Elasticity
	Change in price
	Change in Total Revenue

(up, down, none)

	2
	up
	

	1
	down
	

	
	up
	none

	0
	down
	

	0,6
	
	up

	1
	
	


4. When the price of TV Guide was raised from $2 to $4, the publisher expected circulation of the weekly magazine to drop from 15 million to 14 million.

a) Calculate the elasticity of demand assumed by the TV Guide management.

b) Based on the elasticity value you calculated, should TV Guide expect its revenue from magazine sales to rise with price rise? Explain.

 5. 
a. If incomes rise by 20 percent and demand for a product fall by 40 percent. What is the income elasticity of demand?
b. If a 20 percent increase in the price of coffee results in a 10 percent decline in the quantity of coffee-mate sold. What is the cross elasticity of demand?

6. The demand curve for a product X is given by 

Q = 2500 – 50P 

a.
At what price would 500 units be sold?

b.
Write the equations for total revenue (TR) and marginal revenue (MR).

c.
What will be the TR and MR at a price of $10?

d.
What is the point elasticity at a price of $10?

e.
At what price would elasticity be unitary?         
7. The demand curve for product X is given as Q = 400 – 0,2P

a. Determine the revenue-maximizing level of output and price.

b. What is the point elasticity at a price of $100?

c. At what price would elasticity be unitary?
8. As price increases from $5 to $10, quantity demanded decreases from 200 to 100. What is the arc elasticity of demand?
9. Ahmet and Mehmet are the only consumers in the market. Their demand curves are given by  P=50-2QA and P=100-5QM, respectively. What is the market demand curve?

10. Let U = 2XY, I =$50, PY = $5. Graph demand as PX increases from $1 to $2 to $3.

11. Suppose U = 2X2 + Y , PY = $2, PX = $8, I = $20. What are the substitution and income effects that result from the decline in PX = $4?
12. If disposable incomes rise by 5% and the income elasticity of demand is known to be 0.5, what change in demand would we expect to see?
13. If the price elasticity of demand for a product is known to be 2.5 and the firm cuts the price of this product by 5%, what change would we expect to see in the demand for this product?
14. Characterize the price elasticity of demand if we move along the linear demand curve.
15. The demand curve for bananas is given by the equation p = 800−2q. At what point on the demand curve is the price elasticity of demand for bananas equal to −1? Where p = 400 and q = 200.
16. a. If the price rises by 3 %, the quantity demanded falls by 1.5 %. Calculate the price elasticity of demand.
b. If the price falls from 6 to 4, the quantity demanded rises from 8000 to 12000. Calculate the price elasticity of demand by using midpoints.
17. In a cinema many seats remain empty. The manager examines the following alternatives:

a. Decrease in prices 12 %, increase in entries 15 %
b. Increase in prices 10 %, decrease in entries 12 %

Which alternative is chosen if the manager intends to maximize TR? 

18. Suppose a grocery store normally sells 100 cartons of milk per day and the price elasticity of demand for milk is 1.7. If the store lowers the price of milk by 10%, what is the % change of quantity?

19. Suppose that as the price of Y falls from $2.00 to $1.90 the quantity of Y demanded increases from 110 to 118. What is the price elasticity of demand?

20. Suppose that the income increases from $2700 to $3200. As a result, quantity demanded changes from 190 to 240.  Based on this information you can tell that this product is……………   
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